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𝐸𝑉𝐴 = 𝑁𝑂𝑃𝐴𝑇 − (I𝑣nested Capital ∗ WACC)



 
 

 

 



 
 
 

 

 



 
 

 

 



 
 
 

 

 



 
 

 

 



 
 
 

 

 

 

𝐸𝑞𝑢𝑖𝑡𝑦 = 𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠 − 𝑇𝑜𝑡𝑎𝑙 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠

𝐸𝑞𝑢𝑖𝑡𝑦 = 5000000000 − 4680000000

𝐸𝑞𝑢𝑖𝑡𝑦 = 320000000 $

𝑅𝑂𝐴 =
𝑁𝑒𝑡 𝐼𝑛𝑐𝑜𝑚𝑒

𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠
∗ 100 =

92580000

5000000000
∗ 100

𝑅𝑂𝐴 = 1,85%



 
 

 

 

𝑅𝑂𝐸 =
𝑁𝑒𝑡 𝐼𝑛𝑐𝑜𝑚𝑒

𝐸𝑞𝑢𝑖𝑡𝑦
∗ 100 =

92580000

320000000
∗ 100

𝑅𝑂𝐸 = 28,93%

Net Interest Income =  Interest Income –  Interest expense

Net Interest Income =  408000000 –  148700000

Net Interest Income =  259300000

Net Noninterest Income =  Noninterest Income –  Noninterest expense

Net Noninterest Income =  185000000 – 265000000

Net Noninterest Income =  – 80000000

Net  Income =  Net Interest Income + Net Noninterest Income −  Provision for loan losses − Provision for Taxes  

Net  Income =  259300000 + (−80000000) −  25000000 − 61720000  

Net  Income =  92580000  



 
 
 

 

 

Net  Income =  92580000 + (25000000 − 22000000)   

Net  Income =  95580000   

Net  Income =  95580000 − (66000000 − 61720000)   

cost of equity = Total capital equity ∗ Shareholders′ required return

cost of equity = 42000000 ∗ 0,681

cost of equity = 28602000

 

EVA = NOPAT − Cost of equity

EVA = 91300000 − 28602000



 
 

 

 

EVA = 62698000 $



 
 
 

 

 



 
 

 

 

𝑀𝑉𝐴0 = ∑
𝐸𝑉𝐴𝑡

(1 + 𝑊𝐴𝐶𝐶)𝑡

𝑛

𝑡=1



 
 
 

 

 

𝑀𝑉𝐴 = 𝑀𝐸𝑉 − 𝐵𝐸𝑉



 
 

 

 

𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒 = 𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠 − 𝑇𝑜𝑡𝑎𝑙 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠

𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒 =
Shareholders′ equity

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑠ℎ𝑎𝑟𝑒𝑠

𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒

=
Shareholders′ equity − 𝑃𝑟𝑒𝑓𝑒𝑟𝑒𝑑 𝑠ℎ𝑎𝑟ℎ𝑜𝑙𝑑𝑒𝑟𝑠′𝑒𝑞𝑢𝑖𝑡𝑦

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝐶𝑜𝑚𝑚𝑜𝑛 𝑠ℎ𝑎𝑟𝑒𝑠

 
  −  

  
=  

 −  =  

   + +   =  
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𝑀𝑉𝐴% =
𝑀𝑉𝐴𝑡   −    𝑀𝑉𝐴𝑡 − 1

𝑀𝑉𝐴𝑡 − 1
∗ 100



 
 

 

 

𝑀𝑉𝐴% =
𝑀𝑉𝐴𝑡   −    𝑀𝑉𝐴𝑡 − 1

𝑀𝑉𝐴 𝑏𝑎𝑠𝑒
∗ 100



 
 
 

 

 

𝑅𝑂𝐸 =
𝑁𝑒𝑡 𝐸𝑎𝑟𝑛𝑖𝑛𝑔

𝑒𝑞𝑢𝑖𝑡𝑦
∗ 100

𝑅𝑂𝐸𝐽𝑃𝑀 =

43.22

227.49 
∗ 100

𝑅𝑂𝐸𝑆𝐺 =
5.641 

70.86 
∗ 100

𝑅𝑂𝐸𝐺𝑠𝑎𝑐ℎ𝑠 =
21.64  

78.12 
∗ 100

𝐶𝑎𝑝𝑖𝑡𝑎𝑙𝑖𝑠𝑎𝑡𝑖𝑜𝑛 = Number of titles ∗ 𝑃𝑟𝑖𝑐𝑒

𝐶𝐴𝑃𝐽𝑃𝑀 = 2 939 770 246  ∗ 127.763 = 375,59$   

𝐶𝐴𝑃𝑆𝐺 = 837 124 432  ∗ 22.720 = 19.02 € 



 
 

 

 

𝐶𝐴𝑃𝐺𝑠𝑎𝑐ℎ𝑠 = 337 924 987  ∗ 319,450 = 107.95 $ 

𝐏/𝐁𝐨𝐨𝐤 =
𝐶𝑎𝑝𝑖𝑡𝑎𝑙𝑖𝑠𝑎𝑡𝑖𝑜𝑛 

𝑒𝑞𝑢𝑖𝑡𝑦

𝐏/𝐁𝐨𝐨𝐤𝐉𝐏𝐌 =
𝟑𝟕𝟓,𝟓𝟗 

𝟐𝟐𝟕.𝟒𝟗 

𝐏/𝐁𝐨𝐨𝐤𝐒𝐆 =
𝟏𝟗,𝟎𝟐 

𝟕𝟎,𝟖𝟔 

𝐏/𝐁𝐨𝐨𝐤𝐆𝐬𝐚𝐜𝐡𝐬 =
𝟏𝟎𝟕,𝟗𝟓 

𝟕𝟖,𝟏𝟐  

𝑀𝑉𝐴 = 𝑀𝐸𝑉 − 𝐵𝐸𝑉

𝑀𝑉𝐴𝐽𝑃𝑀 = 375,59 − 227.49 = 148.1 $   

𝑀𝑉𝐴𝑆𝐺 = 19,02 − 70,86 = −51.84 €   

𝑀𝑉𝐴𝐺𝑠𝑎𝑐ℎ𝑠 = 107,95 − 78,12 = 29.83 $   

𝑀𝑉𝐴 𝑝𝑒𝑟 𝑠ℎ𝑎𝑟𝑒 𝐽𝑃𝑀 =
148,1 billion

2 939 770 246 
= 50,37 $

𝑀𝑉𝐴 𝑝𝑒𝑟 𝑠ℎ𝑎𝑟𝑒 𝑆𝐺 =
51.84 billion

837 124 432 
= −61,92 €

𝑀𝑉𝐴 𝑝𝑒𝑟 𝑠ℎ𝑎𝑟𝑒 𝐺𝑠𝑎𝑐ℎ𝑠 =
29.83  billion

337 924 987 
= 88,27 $



 
 
 

 

 

Book Value/shareJPM =
227.49 billion 

2 939 770 246 

Book Value/shareSG =
70,86 billion 

837 124 432 

Book Value/shareGsachs =
78,12 billion 

337 924 987 

𝑀𝑉𝐴 𝑝𝑒𝑟 𝑠ℎ𝑎𝑟𝑒 𝐽𝑃𝑀 =127,76 − 77,38 = 50,37 $

𝑀𝑉𝐴 𝑝𝑒𝑟 𝑠ℎ𝑎𝑟𝑒 𝑆𝐺 =22,720 − 84,64 = −61,92 €

𝑀𝑉𝐴 𝑝𝑒𝑟 𝑠ℎ𝑎𝑟𝑒 𝐺𝑠𝑎𝑐ℎ𝑠 = 319,45 − 231,17 = 88,27 $



 
 

 

 

 



 
 
 

 

 



 
 

 

 


